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1. How many ? 

(i) ____ 5 ₹ coins make 15 rupees.  

(ii)____ 2 ₹ coins make 4 rupees.     

 

 

2. Convert into paise. 

(i)   ₹ 7.50     = _______ 

(ii)  ₹ 40.75   = _______ 

(iii) ₹ 15.00   = _______  

(iv) ₹ 26.10   = _______ 

(v)  ₹ 82.85   = _______ 

   

3.Convert into rupees. 

(i)  665p     = ________ 

(ii) 1000p   = ________ 

(iii) 325p    = ________ 

(iv) 9020p  = ________ 

(v)  5050p  = ________ 

 

 

 



4. Complete the table. 

Notes and Coins Amount  
in paise 

Amount  
in 
rupees 

Amount 
 in words 

 

 

 
 
1050p 

 
 
₹10.50 

 
 
Ten rupees and 
fifty paise 

 

        

 
 

 
 
₹13.00 

 

 

 

 

 
 
7000p 

  

 

5. Solve : 

 

(i) ₹   1 4 . 2 5   (ii)      ₹  7 3 . 6 5 

      +  ₹   1 8 . 5 0          +  ₹  3 9 . 2 5 

_________    _________ 

_________    _________ 

 

(iii)        ₹   4 5 . 5 5           (iv)     ₹  2 7 . 2 5  

           -  ₹   7 . 0 0          -  ₹  1 9 . 7 5 

    __________           __________ 

             __________           __________ 

 



6. Let us go shopping. 

 

 

 
 

(i) Sooraj Buys 

           Item          Quantity          Amount 

       Icecream                2   ₹ 

       Flowers                5   ₹ 

       Apples                3   ₹ 

                      Total Amount paid =   ₹ 

         _______________ 

(ii)  Priya Buys 

          Item         Quantity          Amount 

       Flowers               1   ₹ 

       Apples                     4   ₹ 

       Icecream               3   ₹ 

                       Total Amount paid =   ₹ 

         _______________ 

 

7. Word Problems. 

(i)  At the Nicco Park, Aman spent ₹80 on rides, ₹ 35.25 on games     

      and ₹10.50 on food. How much money did he spend in all ? 

(ii)  Archana bought a pencil box for ₹45.50. If she gave a 100-rupee 

       note to the shopkeeper. How much money did she get back ? 

(iii) A box of 6 balls cost ₹72. What is the cost of each ball ? 


